NPUKJIAL BIUVIETY ®AXOBOI'O BCTYIIHOI'O BUITPOBYBAHHAA
14151 Beryny Ha 5 KYPC HaBuyaHHS cniemiajJbHOCTI

«035.041 Pinoaoria (repMaHcbKi MOBH Ta JiiTepaTtypu (nmepekjaj
BKJIIOYHO), NEPIIA — AHIJIINCbKA MOBA)»
BAPIAHT No¥*****

1. V mpaBociaBHUX CJIOB’SIH Ha3MBaJlacs «a30yKa-rpaHULIA», 3alI0YaTKOBaHA, SIK BBAXKAEThCs, KocTasHTHHOM
Boarapcekum.

(A) Abenka

(B) Binwmii Bipi

(C) BipmoBana ¢gopma
(D) AbenxoBuii Bipi

2. Poman, BigoMuii miJ Ha3BaMU CEPEIHHOBIYHOIO JHUIAPCHKOIO Ta KPYTIHCHKOTO POMAaHIB (30KpeMa Ipo
munapis Kpyrioro croiy).

(A) ABaHTIOpHHMII pOMaH
(B) IpuroaHuusKuii poMax
(C) Icropuunuii poman

(D) Aunamiunuii poMaH

3. Puma, sxa nyxe 4yacto oOMeXeHa JIMILIE OJHI€I0 IpaMaTHYHOIO KaTeropiero, QuekciiMu 0e3 yBaru 1o
KOPEHIB, cy(ikcaMu.

(A) Bigna

(B) Barara

(C) Herouna

(D) bananbHa

4. Astopom ’ecu «YUekaroun Ha ['ogo» (1952) €
(A) E.Ionecko.

(B) XK. Kene.

(C) C.bekker.

(D) I'.ITinTep.

5. IneiiHo-xynoxHii Hampsim y mitepatypi XIX cr., SKMH 30cepe/pKyBaB yBary Ha BHYTPIIIHbOMY CBITI
JIFOTUHH.

(A) Knacummsm

(B) PomanTH3m
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(C) Peanizm

(D) Monepnizm

6. 30ipka BipmoBaHux onoBiganb [xedpi Hocepa, cTBOpeHa B OCTaHHIHM NEPi0T )KUTTS.
(A) «KenTepOepiiicbKi OIOBiTaHHS»

(B) «Knura reprioruHi»

(C) «Mim cnaBu»

(D) «Tpoin i Kpeccima»

7. A word in different branches of knowledge dealing with some exact names of concepts, instruments or
activities.

(A) Term

(B) Definition
(C) Notion
(D) Token

8. One word rhymes with a combination o f words; or two or even three words rhyme with corresponding two
or three words.

(A) Full rhyme

(B) Broken rhyme

(C) Male rhyme

(D) Female rhyme

9. The given combinations of words: Macedonia's madman, The Iron Lady, The Dark Knight, are examples of
(A) Oxymoron

(B) Epithet

(C) Antonomasia

(D) Interjection

10. The given example “Man cannot live by bread along” is
(A) Comparison

(B) Simile

(C) Hyperbole

(D) Metaphor
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11. The creation of new words from elements already existing in the language.
(A) Word formation

(B) Productivity

(C) Affixation

(D) Word-composition

12. Formation that combine two words that include the letters or sounds they have in common as a connecting
element.

(A) Clipping

(B) Blending

(C) Back formation

(D) Onomatopoeia

13. The conceptual content of a word is expressed in its denotative meaning.
(A) Concept

(B) Meaning

(C) Denotation

(D) Connotation

14. The semantic change in the word which rises it from humble beginning to a position of greater
importance.

(A) Widening of meaning

(B) Narrowing of meaning

(C) Elevation

(D) Degradation

15. The Anglo-Saxon settlers came to Britain from
(A) Ireland

(B) northern Europe

(C) America

(D) southern Europe

16. In the centuries after 1066, thousands of _ words were taken into English.
(A) German

(B) Norwegian
IHPUKJIAA BIVIETY ®AXOBOI'O BCTYITHOI'O BUITPOBYBAHHA



INPUKJIAJL BIUVIETY ®AXOBOI'O BCTYIIHOI'O BUIIPOBYBAHHS
(C) Spanish

(D) French

17. Some people in Ireland and Scotland speak

(A) Gaelic

(B) Latin

(C) Sanskrit

(D) Old English

18. In 1337, the Hundred Years War between __ started.
(A) England and Scotland

(B) The Romans and the Celts

(C) England and France

(D) The Vikings and the Anglo-Saxons

19. As a meaningful component of the word the morpheme
(A) can always be divided into smaller segments.

(B) can be both divisible and indivisible into smaller segments.
(C) is elementary, indivisible into smaller segments (as regards its significative function).
(D) is indivisible into smaller segments.

20. The forms Jane's busy hands; Patrick's voice; the patient's health; the hotel's lobby the meaning of which
is defined as "organic possession™, are the examples of the semantic type of the genitive which is called

(A) the "genitive of integer".
(B) the "genitive of agent”.

(C) the "genitive of possessor".
(D) the "genitive".

21. The non-finite form of the verb which combines the properties of the verb with those of the adjective,
serving as the qualifying-processual name, which has a single form and no paradigm of its own is

(A) the past participle.
(B) the infinitive.
(C) the gerund.

(D) the infinitive and the gerund.
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22. The connections that unite a substance with its attribute expressed by an adjective or a noun (e.g., an
enormous appetite) are called

(A) objective connections.

(B) attributive connections.

(C) adverbial connections.

(D) subjective connections.

23. Phonetics is itself divided into:

(A) segmental phonetics.

(B) suprasegmental phonetics.

(C) segmental and suprasegmental phonetics.

(D) none.

24. Pronunciation is a process of materializing of features relating to
(A) the system of sounds/phonemes, prosody.

(B) the syllabic structure, prosody.

(C) the system of sounds/phonemes, the syllabic structure, prosody.
(D) speech/oral verbal message.

25. The amount of effort or energy expended in producing a syllable is called
(A) word/lexical stress.

(B) word stress.

(C) lexical stress.

(D) stress.

26. ... studies the ways in which pronunciation interacts with society.
(A) Sociophonetics

(B) Psycholinguistics

(C) Linguistics

(D) Phonetics

27. Translation consists in reproducing in the receptor language the closest natural equivalent of the source
language message:

(A) in terms of meaning.

(B) in terms of style.
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(C) both.

(D) none.

28. John Dryden (1631-1700), in his Preface to Ovid’s Epistle (1680), tackled the problems of translation by
formulating three basic types:

(A) metaphrase, paraphrase, imitation.

(B) metaphrase, paraphrase, transliteration.
(C) transliteration, paraphrase, imitation.
(D) metaphrase, transliteration, imitation.

29. Their development is due to two factors: the application of the rapidly expanding linguistics; the
emergence of Machine Translation.

(A) Linguistic Theories

(B) Functional Theories

(C) Text- type Theories

(D) Translational Action Theories

30. Accordingly an aesthetically communicative, dynamic translation must not:
(A) comply with the target linguistic system.

(B) be unnatural and free from translationese.

(C) be acceptable to the target audience or literary readership.

(D) be creative and aesthetically informative/communicative.
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